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25% w7tk 39 25% FUtE 7R

o = o]
(k9] A <91/10a)
if o | b AN ~ [H UI
1 2 (A) o 5 2 (B) A9 2(C) B/A C/A
925 2,008 326 217 35
2,106 2,480 1,905 118 90
763 726 731 95 96
1,608 1,800 1,393 112 87
H] 764 617 811 81 106
£ H] 1,084 1,128 1,185 104 109
H] 1,654 1,723 1,639 104 99
A| 844 1,183 582 140 69
= 524 672 208 128 40
A -6 77 -246 -167 535
4 6,443 9,171 3,707 142 58
4 2,813 3,943 1,940 140 69
& 05 0.6 0.2 123 36
H] 785 695 860 883 110
s 131 129 157 98 120
25% w7het k9l 25% wIFR R
R AR
(k9] A <91/10a)
ir- 1 ALO] A = Kl L5 > LH HI
g oA 22 = IHB) ol #1 = IHC) B/A C/A
7 925 528 1,360 57 147
T 2,106 2,580 1,786 123 85
ot 763 755 775 99 102
= 1,608 1,949 1,384 121 86
= 764 848 613 111 80
%3 1,084 1,125 955 104 883
A 1,654 1,861 1,305 113 79
5 844 1,101 771 130 91
E 524 824 429 157 82
& -46 88 79 -191 -172
I 6,418 8,156 5,977 127 93
= 2813 3,670 2,570 130 91
05 0.7 04 152 93
kg 785 721 731 92 93
I 132 135 129 103 98



3. AQA Y FAFAE o4 0 Y
(b9] + %1€4/10a)
7w Ho@A) | FHEAG) | 291570 a°l
B/A C/A
T % (ke ) 2,106 2,484 1,962 118 93
(4 / k) 763 7135 733 96 9%
N = F 4 1,608 1,326 1,438 114 39
T T KA A 764 764 899 100 118
2] % 3 H] 1,084 986 1,283 91 118
%S| oAb H 1,654 1,613 1,845 93 112
O | Y 1062 539 126 61
E = 524 840 155 160 30
s F 4 -46 213 -407 -463 385
A2 A =5 A A A 6,094 8,233 4,211 129 66
S CEAAAA 2,813 3,540 1,797 126 64
A piy kA & 0.5 09 0.1 176 25
ke & A A H 785 649 940 33 120
= 5 Al s 132 129 128 93 97
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 $9E7hE kg AL R 250l B w7) GelETbe
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FIHE T

kg An] EaL &

170 X
(9] + <1/10a)

i I} 1z [ LopZs 2 ol(C ol bl
T & t(A) =4+ B) g 20 B/A CIA
3 ¥ B (H) 925 490 1,070 53 116
T T (ke ) 2,106 2,334 2,029 111 9%
s 7} (H/ke) 763 739 773 97 101
R T % 1,608 1,724 1,569 107 93
< A ¥ 764 393 721 117 M
Bl &7 K H] 1,084 1,227 1,037 113 9%
R ] 1,664 1,934 1,560 117 94
o7 7F A 344 331 348 93 100
F g4 = 024 497 032 95 102
= F 4 —46 -210 9 457 —20
oAb A s B4 6,418 9,503 6,730 86 105
T TEAARANA 2,813 2,770 2,827 93 100
A iy e & 0.5 0.4 0.5 34 106
ke & A A W 785 829 769 106 93
= o A s 132 151 126 115 96




